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Resuelva el PVI siguiente:


  




              




  

con  constante. y       
Solución:

Dado que (porque estamos frente a un PVI), se tiene que           


  




               




 
 

                      

  




             
  

     


              
  

      


               
  

       

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Ahora

          
           

             
   



Finalmente,

               
  

       


con             
   

 


